7

LAUMAS"

ELETTRONICA

HELER LA

(7%

SIS I= = - o

5B s R A A

O

Jr—




PSRRI

HAEHRESS WHL SR H=hisie H# fE5 S RELHFEASS
1 .l %‘ '
S

o

_{G)

iﬁ%ﬁt;‘cﬁiﬁiiﬁﬁ e HENE - ERES




OIML)

OIML)
él'ML.

OIML)
OIML)
OIML)

£ 6IML\

éIML\
OIMLI
(")IML\

OIML)

£ 6IML\

£ 6IML\

OIML)
OIML)
OIML)

OIML)

OIML)

OIML)

slalaloleley

slslslslslalsialslalalslsls

el

0O

SISy

AP
AZ
cToL
AF
AS
ALL
PRC
AU
AZL
AZS
AM
PTC
PTAI
APL
PEC
PEI
AR
ATL
FCOL
FCL
FCAL
FCAX
FTK
FTP
FTKL
FT-P
FTL
FTZ
FTZA
FTH
DTX
DTL
CK
CLS
CBL
CBX
CBLS

150-300 KG

10-100 KG

100-2500 KG
5-50 KG

0.25-1 KG

3-50 KG

6-50 KG

3-50 KG

10-100 KG

10-200 KG

60-300 KG

30-150 KG

30-200 KG

50-500 KG

75-500 KG

100-500 KG

500-1000 KG

1000-2000 KG

20-500 KG

20-200 KG

30-300 KG

30-1500 KG

75-5000 KG

75-10000 KG

500-5000 KG

500-2000 KG

300-2000 KG

500-5000 KG

500-10000 KG

5000-10000 KG

10000 KG

25000-30000 KG

200-2500 KG

1000-5000 KG

250-100000 KG

15000-50000 KG

200000-750000 KG

kDOO\ICDU"'bUJNI—\

N NN N NN R 2R | N i N S
wwwwwﬁwwgg’:’,gmhwwn—\oLooo\lgu-._bw,\,,_\o
\lmm.b = O



OIML)
OIML)
OIML)

OIML)

OIML)

OIML)

OIML)

OOOOLY OV

COK  15000-50000 KG

CO 25000 KG

COL  30000-60000 KG

COLD 30000 KG

CL 500-200000 KG

CLK 2000-20000 KG

SA  15-60 KG

SL  25-2500 KG

CTOL 50-5000 KG

CTL 100-12500 KG

TAL 5000-20000 KG

TBT 30000-250000 KG

LAU 5000-20000 KG

FUN 2000-40000 KG

CA  30000-250000 KG

LPED 100 KG

38
39
40
41

42
43

44

45
46
47

48
49
50
51
52
53



G5

LAUMAS FREE AL s

HE-Hk% . AP :150, 300 (KG)

BRZHL
85) Z: 0.6W e
25 '-‘.]';_,J""
B <+0.2%FS. < - |

30min KA B % 0.03% 3 """ﬁ':';;::
iR 12-30VDC -
{59 0-10vDC

#a2%BHHT: >2000 M ohm

B a54%: 1P65

N TAESAT: 120% F.S.

BN >200% F.S.

7 RS, LIAUE Ml #8412 0.5mm

Mt fas

AR 6K

42,5 imounting surfzes) Bx M5 x 1.25P

25 |

U‘ LT — -év—l.’r G O

- a?{ 0 —

A -
(s
d - 19 122 107

L“?—-5.l 174 B
{mounting surfacs)

jw

Dimenszions (mim)

A FE RN BARAT B2 7



LAUMAS FREE AL s

S FA&: AZ: 10, 30, 50, 100 (KG)

BARSH:

) . 0.6W
REVEHl: <£0.2%FS.
30min IFAZ R ZE: 0.03%
fErHL R 12-30VDC
{59 0-10vDC
#a2%PHHT: >2000 M ohm
B a54: 1P65

N TAESAT: 120% F.S.
BN >200% F.S.

M e
HIBIKAE: 10K

==
v - & /
7 RS, LIAUE M #8412 0.5mm
{mounting surface)
m I
{ | I
T I
|:|_ )
sl /) 5524%'3 .
Rk
/ 1 / &=
0.5 7t = ‘{
g =
1 15 I
{mounting surface)
6 10 100 10 E__
GEEZE— ©
W B MEx
150

I
‘ o A
3

JEHAE B PP ARAT R 7]

=

Dimensions (mm)



LAUMAS FrEE AL a8

ME-E0A%. CTOL: 100, 500, 2500 (KG)

=

&

RZH:

o . 0.6W
IRZEVEH: <£0.2%FS.
30min AR R 25: 0.03%
ftHLHL R : 12-30VDC
fr{E5: 0-10vDC
22 1: >2000 M ohm
Bidra5ek: 1p6e7

R TAERAT: 120% F.S.
WA >200% F.S.
76 FS. EAUE Ml S 5% 42 0.4mm
M AN
K E. 10 K

Dimensgions (mm)

kg 100 4
kg 500 | kg 2500 6?
A | @635 @82 N
B | M12x1.75 | M20x1.5 ¥
[ 45 43
p 22 30
E 14.5 21
F 52.5 78
[ @12 @ 20
H 17 25
1 140 190
L 10 16
M 55 a0
N @ 35 @ 39

AL FE BRI B PR A T



LAUMAS FrEE AL a8

S Ek&: AF: 5, 15, 50 (KG)
(B, a7 0,1,2,21,22 [X)
HARSH.

RZEVuH: < £0.05%.
30min §EAR R 25: 0.05%
HyNHLIE: max 10VDC
HAES: 3mv/V £5%

i \BiL#: 410 ohm 40 q

HrHPHPT: 350 ohm=+5 -
i1 4i: >2000 M ohm “
Rl 2%

Bira54: 1P65

R TAERAT: 150% F.S.

WA AT : >200% F.S.

7E FS. B%e il &= 45: 0.5mm

M R RN

HASKE: 3K

{mounting surface) *
24
C =0 1

™ e e —— -

n [} 1] L] ] ] I [}

b o i \\ P 0o

IS N A AL
24

{mounting surface)

4x M5 x 0.8 T

&
Jﬂ
|
|
i
A
Ps

Dimensions {mm)

A FE RN BARAT B2 7



22

LAUMAS FrEE AL a8

S Ek: AS:  0.25, 0.5, 1 (KG)
(B, a7 0,1,2,21,22 [X)

BRZHL:

RZEVulH: < £0.03%.
30min IfFAR IR 25: 0.03%
HyNHLE: max 15VDC
EHES: 1-2my/V £15%
By NFH#T: 410 ohm+10
HriPHPT: 350 ohm=+3
252 BHAT: >2000 M ohm
Rl 2%
Bi4r554: 1P65

I K TAE#AT: 120% F.S.
WA : >200% F.S.

7E FS. B%e il &= 4 44: 0.5mm
M 54

HASKE: 3K

70
12 {mounting surface)
T e

| 12 | 1
{mounting surface)

A FE RN BARAT B2 7

{ d
= _
|

/

8]

L

dx M3 =05

58

Dimensions (mmy)



LAUMAS FREE AL s

S Hk% . ALL: 3, 5, 6, 10, 15, 20, 30, 50 (KG)
(BB, mf /7 0,1,2,21,22 [X)
HARSH.

K454 : OIMLR60 C3
RZEVuH: < £0.02%.
30min IFAZ IR ZE: 0.015%
Hr\HLJE: max 18VDC

ST 1.8mV/V £10% (3KG) A5V _— /

2mV/V +10% (5-50KG) -
i NFE4T: 409 ohm+6 3 H

HrHiBHPT: 350 ohm£3

42 HHT: >5000 M ohm
RO £1%

B4 a54: 1P65

I K TAERAT: 120% F.S.
R E AT : >300% F.S.

76 FS. EAUE Ml 5% 12 0.5mm
M 54

RS 3K

.

L
ri.. 4x MB % 1 ¥ —
L [T T
Yy
o 3
oy | o3
— | &3
T
('} L STAFFE INQX & TRAZIOME {carico max 50 kg)
12 ne 12 TENSION STAINLESS STELL BRACKETS (max load 50 kg)
130 _"I WG

25 (mounting surface)
|—!I!—-—,.

22

=i -—

@

25 130

(mounting suface)
Dimensions (mm)

JE BB B 2 AR PR A W)



LAUMAS FREE AL s

S 5A&: PRC: 6, 15, 30, 50 (KG)

(G BIHEZE, mf /7 0,1,2,21,22 [X)

FARSHL

RZEVuH: < £0.02%.

30min #FAF R 25 0.02%

Hr \HLJE: max 15VDC

S S 2mV/V +10% -"
HiBHPT: 380 ohm=£10

HrHiBHPT: 350 ohm£5

24T >5000 M ohm

RO £1%

Bidra5ek: 1p6e7

R TAE#AT: 150% F.S.

R A -

>300% F.S.

£ RS, LRVBUE N #AE: 0.3mm
M. AN

AR : 3K
{mounting surface) EI:E:I
32.5 .
% — ———— |
= . 5
- | | Ty : . P W IR I
i ~ S 5
T ﬂ ﬁ L 840 O ©
= | I
7.5 19 ] 19 7.5
(mounting surface) e

Dimensions (mm)

A FE RN BARAT B2 7



LAUMAS FREE AL s

TS Hk: AU: 3, 6, 15, 30, 50 (KG)
(G, il 0,1,2,21,22 [X)
HARSH.

RZEVuH: < £0.02%.

30min IFAZ IR 2E: 0.025%

Hr \NHLJE: max 15VDC y

WSS 2mV/V £10% g = 2
Hr\BHPT: 410 ohm+t10 | i
i BEBT: 350 ohm 3 ¢
242 FHHT: >5000 M ohm | i
RO +2% |
Bi4r554: 1P65

I K TAE#AT: 120% F.S.

R E AT : >200% F.S.

76 FS. EAUE Ml &% 12 0.5mm

M. 54

RIS 3K

{mounting surface) A 4
30 -
12 o O B
12
—— : Bx M4 x 0.7 (AL 356-15) M6 x1 (AU 30-50)
] - T
S ® &
b —\ SR
'ﬁ\' s"é o
g sy FATE s = -8 -
i - J _ 1 vfﬁdfg H=18{All kg 3-6-18)
8 H =30 (AL kg 20 - 50)
=1
50
120 (mounting surface) Dimensions (mm)
8

JEHAE B PP ARAT R 7]



LAUMAS FrEE AL a8

WS EA& . AZL: 10, 15, 20, 30, 50, 100 (KG)
(B, AT 0,1,2,21,22 [X)

BRZHL:

8

OIML R60 C3
: <10.02%.

30min IEAR R ZE: 0.02%

EIPANG R
CIRE RN
CIPNUEETE
S BT
Y2 L
E - Sa T
EARE /S

max 18VDC
2mV/V £10%
409 ohm=*6
350 ohm=3
>5000 M ohm
+1%

IP65

K TAE#AT: 150% F.S.

A Ay

: >300% F.S.

£ BS. ERBUE N B H AR 0.5mm
I
=

: 62K

M A
R K

a7

(mounting surface)

15

19

385
40

254

ms

31 | 74

(mounting surface)
B 19 100

N\

W Bx ME x 1

150

A FE RN BARAT B2 7

Dimensiong (mm)



LAUMAS FrEE AL a8

MEHk . AZS: 10, 30, 50, 100, 200 (KG)

st
&

ARZHL:

RZEVEH: <40.03%.
30min IHEAE IR 2% 0.03%
N E: max 18VDC

S 2mv/V +10% \ :

#NFHHT: 385 ohm=+30 ! ~
L BHPT: 350 ohm=+3 =

Y2 40: >2000 M ohm ﬁ.‘ /
FRCPT: +1% iy

Bidra5g: 1p6e7

I K TAE#AT: 150% F.S.
WA : >300% F.S.

76 FS. &S Ml S 5% 12 0.5mm
M5 AN

HASKE: 6K

(mounting surface) A4

'1.5|1BI as .12. 234 . = L,n::j

(mounting surface)
. 5] 18 100 18 4] -
L
o ﬂ .
& {f—{ﬁ: '@Ttﬁi‘

150

Dimensions (mm)

10
A FE RN BARAT B2 7



LAUMAS FrEE AL a8

MEEA: AM: 60, 100, 150, 200, 300 (KG)
(B, a7 0,1,2,21,22 [X)
HARSH.

K454 : OIMLR60 C3
B <+£0.02%.
30min §FAR IR ZE: 0.025%
HyNHLE: max 15VDC
HAES: 2mv/V £5%

i NFH$: 406 ohm+20 . e J“"
i PHAT: 350 ohm£20 = —
#62BH41: >5000 M ohm ’ __....:-ﬂ
TR 2% P =
BidEgt: 1p6s I —
K TAESMT: 150% F.S.
WA : >300% F.S.
76 FS. &S Ml & 5% 12 0.5mm
M B4
HASKE: 3K
150 *
33 (mounting surfacs) -g_
o SRV
g Y
R

1' a.5| 98 |2
1195 . 9.5 |
— 7 7 —— Dimensions (mm)

11
A FE RN BARAT B2 7



LAUMAS FREE AL s

MEHk . PTC: 30, 50, 75, 100, 150 (KG)
(B, Bl /7 0,1,2,21,22 [X)

BRZHL:

RZEVuH: < £0.02%.
Ahours 1A IR 75 0.02%
HyNHLE: max 15VDC
WSS 2mv/V £10%
By PFH#T: 400 ohm=+10
HrtPHHT: 350 ohm=+5
2T >5000 M ohm
RO £1%
Bidra5g: 1p6e7

I K TAE#AT: 150% F.S.
WA AT : >300% F.S.

76 FS. EAUE Ml S5 42: 0.3mm
M5 AN

HASKE: 3K

(mounting surface)

325
— - UTT T
44
Ay < W
T n :
ol ol L |

325

(mounting surface)

Ax ME x1.25

A FE RN BARAT B2 7

40

}!x‘
\ a

g

Wb

~

[ ]
=y
n E‘UE
. — o m
‘:ﬁ L é B s
==
75 19 85 19 75 LA
(=T
118 o
I |

Dimensions (mm)

12



LAUMAS FREE AL s

S EA&: PTAl: 30, 50, 100, 200 (KG)
(B, Bl /7 0,1,2,21,22 [X)

BRZHL:

K454 : OIMLR60 C3
RZEVuH: < £0.02%.
4hours IFAF R 2. 0.03%
Y NHLIE: max 15VDC
WSS 2mv/V £10%
HyNFH#T: 381 ohm=+20
HrtFHPT: 350 ohm=+4
Y2 BH$T: >5000 M ohm
RO £1%
Bidra54k: 1p68

I K TAE#AT: 120% F.S.
WA : >300% F.S.

7E FS. B%e il &= 4 45: 0.5mm
M5 AN

HASKE: 3K

{mounting surface)
32.5

1

%
{mounting surface) Ax M8 x 1.25

A FE RN BARAT B2 7

i,

19

Q
L
19 (PTAI kg 30 - 50)
31 (PTAl kg 100 - 200)

19 7.5

118

L
L

Dimensions (mm)

13



LAUMAS FrEE AL a8

S Hik%: APL: 50, 100, 150, 200, 300, 500 (KG)

BRZHL:

8
PR

(GBI, f/7°0,1,2,21,22 [X)

OIML R60 C3
< £0.02%.

30min AR R % 0.015%

ETPNGENEE
R ERER
LIPNUEETE
i L
Y2 L
Z R
EAR /S
R TAE#
T I AT«

max 18VDC =
2mV/V £10%

409 ohm=*6

350 ohm=*3

>5000 M ohm

+1%

IP65

fif: 150% F.S.

>300% F.S.

£ FS. LRVBUE N #AE: 0.5mm

B e
R -

Dimensions (mm)

3K

(mounting surface)

43

dx M& x 1.25

J —
| RS o o
) |

TR Gr G

719 122 192 |7
174

(mounting surface)

14

A FE RN BARAT B2 7



LAUMAS FrEE AL a8

WS Ek& . PEC: 75, 150, 300, 500 (KG)

(B, mf 7 0,1,2,21,22 [X)
(BTG4 F TN, /852 7+ 4 OIML R60 C3  7F)

BRZHL:

IRZEVE ] < £0.02%.
4hours FA5 % 75: 0.02%
L : max 15VDC
WSS 2mv/V £10%
i NPBH$T: 400 ohm 10
i BHT: 350 ohm 5
42 HHT: >5000 M ohm
RO 1%
Bidra5dk: 1p67

K TAERAT: 150% F.S.
WA : >300% F.S.

7E FS. Be il &= 45: 0.3mm
M RN

AR E: 3K

Dimensions (mm) *
(mournting surface) E:g
325
— o Vid i — T
Ponow £ = ._._,@_ -
'1\-_-_-_4'. T.;_T : e L v "@ -
- " i.
2 iy 8 !- E E
e | I
= (b0 i S A
- PN M s e e =]
325 ™~ 8xMsx1.25
rmlunﬁngsum), e 75| |19 65 19 bs
118
15

A FE BRI B R T



LAUMAS FrEE AL a8

S EA&: PElI: 100, 200, 300, 500 (KG)

(7757, 77 0,1,2,21,22 [X)
BARZH:

FEE%4%: OIMLR60 C3
IRZEVE ] < £0.02%.
Ahours FA5 % 75: 0.03%
L : max 15VDC
WSS 2mv/V £10%
i NPT 381 ohm=20
Hi i FH$T: 350 ohm+4
#i 2% MHT: >5000 M ohm
RO £1%
Bidrdd: 1P68

R TAERAT: 120% F.S.
WA : >300% F.S.

76 FS B E N EHAE: 0.5mm
M RN

A KRE: 3K

Dimensions {mm)

(mounting surface)

I 1 I o
b
1/4 gas 1 | gl g
s Lt 1 |
< 1 O—OH—=
- i lEn ] =
1] 1
195 8x M8 x 1.25 75 | | 19 &5 19_ 75

(mounting surface)

118

A FE BRI B R T

16




Dimensions (mm)

75

LAUMAS FREE AL s

M. AR: 500, 1000 (KG)
(G ETARZY, nfH70,1,2,21,22 [X)
AR ZH

RZEVE . <40.02%.
30min AR IR % 0.03%
IR : max 15VDC

RS 2mv/v £10% o —
EYNPBHPT: 410 ohm=+10 = 2

B FEPL: 350 ohm=+3

-
24240 >2000 M ohm
AT £2% ﬂ
Bira54: 1P65
I K TAE#AT: 120% F.S.
R E AT : >200% F.S.
76 FS. EAUE Ml S %42 0.5mm
M. 54

R 3K

14 , Bx M8 x 1.25 42

I

7.5 30

I

{mounting swface) I:m
2
C
=

o

£ =
" |12 - 12 UNF o QMJ WL H
C—

6H—D a 0 7| |
8| 25 124 | 42
190 (mounting swface)

17
JEH A B M AAT R 2 7



125

LAUMAS FrEE AL a8

S EA& . ATL: 1000, 2000 (KG)
(B, AT 0,1,2,21,22 [X)

BRZHL:

FEE%4%: OIMLR60 C3
RZEVuH: < £0.02%.
Ahours IFAF R 75: 0.02%
By N LT : max 18VDC
WSS 2mv/V £10%
i NFH¥T: 4060hm=+6
Hy i PHeT: 350 ohm£3
#4452 BHAT: >5000 M ohm
RO £1%
Bidra54: 1P65

R TAERAT: 150% F.S.
WA : >300% F.S.

£ FS. LRVBUE N #AE: 0.8mm

B e
R 3K

-rl

5 | Bx M16 x2

1 ]

i i

i A
2 i i

i i

] !

i i

i i

i i

i .
o i

A FE BRI B R T

176
20 8 18 66 18 & 2
[ | [ [ [ 1
] —
7 ':r' L.

¥

Platform 1200 x 1200 mm |

&a0mm _,_,_F--"""f-'
F,,..-»"'"’"-f

Dimensions (mm)

18



LAUMAS FREE AL s

HIZHK: FCOL: 20, 50, 100, 200, 350, 500 (KG)
(BB, AT 0,1,2,21,22 [X)
HARSH.

K454 : OIMLR60 C3
RZEVuH: < £0.02%.
30min #FEAF R 25 0.02%
Hr \NHLJE: max 18VDC
WSS 2mv/V £1%
HiNBHPT: 460 ohm£50
HiHiBHPT: 350 ohm£3.5
42T >5000 M ohm
RO £1%
Bidra5ek: 1p68

I K TAE#AT: 150% F.S.
R E AT : >300% F.S.
76 FS. EAUE Ml S 5% 12 0.4mm
Mg AN
HASKE: 3K

32

H Al
i §€ - 20-200kg| pez | 23 | 20
- 350-500 kg| @103 24 | 1o
o i} STAFFE & TRAZIONE {carico max 100 kg)
- - 2] TENSION BRACKETS (max load 100 kg)
(mounting surface) 120
XA M8 x 1.25
j
A [0
o £ = HA) m| @
e [ i T & o

(1=}

0 15 a2 10

- st — L ; L 1
120 MG x 125 Dimensions (mm)

19
JE BB B 5 B AR A PR W]



415

LAUMAS FREE AL s

MEHM . FCL: 20, 50,

100,

(BB, 17 0,1,2,21,22 [X)

BRZHL:

K454 : OIMLR60 C3
REEH: <£0.017%.
30min IFAZ IR ZE: 0.016%
Hr \HLJE: max 15VDC
BHES: 2mv/V £0.1%
Hi\BHPT: 400 ohm£20
HrHiBHPT: 350 ohm£3
22 FHHT: >5000 M ohm
RO 2%
Bidra54: 1p68

I K TAE#AT: 150% F.S.
R E AT : >200% F.S.

76 FS. EIAUE Ml S5 12: 0.4mm
M5 AN

HASKE: 3K

28

20 ]
1

200 (KG)

¥

20

30

il

STAFFE A TRAZIONE (carico max 100 kg)
TENSION BRACKETS (max load 100 kg)

42
245 {mounting surface)
__82 S
|
. 1] 20 -
m[ ) O O 8
W_u
ol - 18 10_._—51{

120

JE BB B 5 B AR A PR W]

M8 x 1.25

Dimensions {(mm)



LAUMAS FrEE AL a8

S EMA% . FCAL: 30, 50, 75, 150, 300 (KG)

(G, mf /7 0,1,2,21,22 [X)
HARZHL:

K554 : OIML R60 C3
REVEH: <+£0.017%.
30min #2125 0.016%
iy NHLE: max 15VDC
G5 2mv/V £0.1%
I NFHPL: 400 ohm=+20
i BHPT: 350 ohm+£3
#52%HHT: >5000 M ohm
TRl £2%
Biyasde: 1pe8

N TAESAT: 150% F.S.
WA AT >200% F.S.

7 RS, EIAUE M S %12 0.4mm
Mo ANHE

AR 3K

:'ME
B2 5 13 STAFFE A TRAZIONE {carico max 300 kg)
' ' ' TENSION BRACKETS {max foad 300 kg)
I} i M 12x1.75
1 T | T -
[ ]! ' /ﬂu
[ S I
1 [ o |—|
1/4 gas 13 13 ¢
52.5 |
(mouwnting surface) S =
126.5
12 x 1.75
Dimensions {mm) 136.5

A FE RN BARAT B2 7



LAUMAS FrEE AL a8

A5 Rk FCAX:  30,50,75,150,300,500,750,1000,1500 (KG)

(G, mf /7 0,1,2,21,22 [X)
HARZHL:

RZE . < £0.02%.

30min #2125 0.016%

i NHLE: max 15VDC

G5 2mv/V £0.4%

I NFHPT: 400 ohm=%20 (30, 50. 75. 150. 300KG)
350 ohm=*5

i BHPT: 350 ohmt5

#52%MHHT: >5000 M ohm

TRl £1%

Bia5de: 1pe8

N TAESAT: 150% F.S.

WA AT >200% F.S.

7 RS, EIAUE M S %12 0.4mm

Mo AN

A 3K

Dimenazionz {mm) . "

165 25 a2 13 STAFFE A TRAZIOME (carico max 300 kg)
TENSION BRACKETS (max losd 300 kg)
M12%1.75
EEEREEE 1
T Pl
| | L ¢ 8|8
: I |
BENRREY REY
: 3'51 — P ap —®)
mounting surface
? 136.5 M12x1.75 /
135.5

22
A FE RN BARAT B2 7



LAUMAS FrEE AL a8

;Fg

(775722,
BARZHL:

FERE454 . OIMLR60 C3
IREVEHE: <40.02%.
30min IFARRZE: 0.02%

ZHUA&: FTK: 75,150,300,

NG
SR ERER
CIPANUEET
ot LA
Y 2 B -
X R
EAR

max 15VDC
2mV/V£0.4%
380 ohm=*=40
350 ohm=*=10
>5000 M ohm
2%
IP67/IP68

N TAESAT: 150% F.S.

WA AT >200% F.S.

7 RS, L IAUE Ml %12 0.6mm
M RN

AR 6K

500,1000,2000,3000,5000 (KG)

a1 7+0,1,2,21,22 [X)

kg 75-150 - 300

o o

IP67
resinata (resin sealed)

kg 500 - 5000
S

IP68
saldata (welded)

Dimenaiansz (mm) “"
_ Mi12x175 2
= Nw 2¢ @13 r O m
__ — =
\Cr ] = —
~i~ ~J~ mﬂ— o @ ) kg 150
. 1 ] kg 300
| |ens ___] 128 782 25.4
{munfmswface} 130 |
238
@ r ’/-‘l'dﬂﬂ Zx @13
i Lk kg 500
] —7-1—-@?—? —Lﬂ__—*— o -—@—-— —eé— kg 1000
= ) Ll i T MMM ko200
muxize || B |l 82 | 1 762 |254!g‘
{mounting surfzce) 130 .
M20 x 2.5 2
—r Zx @20
— = } b C f—m-;m }_{__ :
ol T m —— - = i /’L\‘ ! kg 3000
N\ BN W '\T/' \T/' kg 5000
rz:f’:z : g 74 ; 19| 053 R
— o || : | ' iT1s |
(mounting surface) ]

A FE RN BARAT B2 7




LAUMAS FREE AL s

HIZHk& . FTP: 75, 150, 300, 500, 750, 1000, 1200, 2000,

3000, 5000,

10000 (KG)

(G, mf /7 0,1,2,21,22 [X)

FARZH
K554 : OIML R60 C3
IR < +0.02%. K73 <00
30min A% 0.02% i1~ v—
HINHLE: max 15VDC \ = -
AR 2mv/VE0.4% PET * = y
i NFH$T: 385 0ohm=£10 kg 500 - 10000
frdiPHAT: 350 ohm+£3 =
%2 BHPT: >5000 M ohm e —ra
TP +2% i,\,) F‘
Bi252%: 1P67/1P68 e
N TAESAT: 150% F.S.
BN >200% F.S.
7 RS, FIAUE M # % 12: 0.6mm
M AN
AT E: 5-10 K
kg 500 1#][]_021 C - *
_I_ ff’ “\ kg 75 - 2000 | kg 3000 - 5000 | kg 10000 m
T : ] A 130 171.5 222.3
|/ 5 | M12x175 | Mm20x28 | mMz4x2
___l B L_ ! _ G ! c @ 13.5 @ 21 @ 26.2
_ 2C_ (maunting awfsce) D 76.2 5.3 123.8
- \ H]]]]]]]E:' E 254 381 50.8
T A"\ j +\ f'l"‘*: F 15.7 19.1 254
‘*Ii ‘-|*’ ”*1" G =7 78 102
— | = £ | F|s H 3z 38 50,8
A ; ; : I 18 18 254
kg 75 - 300 o Ty
T ol B P L
T T W urj. - Jrj
&
NEN . G JI | D L E |.F.|us
Dimensions mm] {mouniing suiEce) A

JE BB B 5 B AR A PR W]

24




-

LAUMAS FrEE AL a8

A5 RS FTKL:

=

&

A

e
AR

< 10.02%.

30min IGAR R ZE: 0.02%

EIPANG R
CIRE RN
CIPNUEETE
S BT
Y2 L
Z R
EARS /S

max 18VDC
3mV/VE0.4%
350 ohm=*3.5
350 ohm=*3.5
>5000 M ohm
+1%

IP67

K TAE#AT: 150% F.S.

BRI A -

>300% F.S.

500, 1000,

1500, 2000, 3000, 5000 (KG)

£ RS, LRVBUE N AE: 0.4mm
FHJ5C: RN

HZEKE: 5K
L
— = 500 kg ¥
— | 1000 kg -
{g,rg_gu_m,: i | i i oo 1500 kg | 3000 kg
P b 2000 kg | 5000 kg
i | ] v A 130 1715
1 1 1
IR P B 15.8 19.1
| ' E | | i | Cc | 254 38.1
imounting surface) D| 762 953
7% N E| 532 76.2
F| 318 38.1
o G 3 | 4
1 . _______@:__ H| 218 281
_; 2 | | @135 | @198
| L [M12x1.75|M18x15
B C D | M| 158 18.3
A N| 2135 | @198

A FE RN BARAT B2 7

Dimensions (mm)

25



LAUMAS FREE AL s

1000, 2000 (KG)

(G, mf /7 0,1,2,21,22 [X)

S HiA%: FT-P: 500,
HARZH .
FERE454 . OIMLR60 C3

PRZEVEH: <£0.02%.
30min #2125 0.016%
iy NHLE: max 15VDC
HHES: 2mv/V £0.4%
i ABHPT: 385 0hm=t10
i BHPT: 350 ohm+£3
#i2%PHHT: >5000 M ohm
TP +2%
Biyasde: 1pe8

N TAESAT: 150% F.S.
BN >200% F.S.

7 RS, EIAUE M S %12 0.4mm
Mo ANHE

AR 5K

o e

=
['=]
B
O

HJ
(mounting surface)

2% @135

I Y
i I
O —%3—'—'@

Nl
N3

76.2

| 254

15.7

120

Dimenazions {mm)

A FE RN BARAT B2 7

26



LAUMAS FREE AL s

WS EA&: FTL: 300, 500, 1000, 2000 (KG)

(BT, 7f/7°0,1,2,21,22 [X)
HARZHL:
FERE454 . OIMLR60 C3
RZEJa . <40.017%.

30min iEAF IR ZE: 0.016%
HiANHLE: max 15VDC

HHES: 2mv/V £0.1% \_
b \NFHPT: 400 ohm+20 e s 2
fitiBH: 350 ohm+3 — s Y

S 25 L |__Ji N

“62H4T: >5000 M ohm -

FHT: 2%

Biyasde: 1pe8

N TAESAT: 150% F.S.
BN >200% F.S.

7 RS, EIAUE M S %12 0.4mm
Mo AN

MK 5.8 K

158, 254 76.2 , III*
I
1/4 gas i Lo i — o ! J
et i ) b
1 | 1 | ' E
i NS 2|
56 | 13.5
{mounting surface) 130
| 2x @13.5 JM12>-:1.?’5
A 4 AL e
q;“ Y «

Dimensions (mm)

27
JEH A B M AAT R 2 7



LAUMAS FrEE AL a8

FISHMA&: FTZ: 500, 1000, 2000, 5000 (KG)

(G, mf /7 0,1,2,21,22 [X)
HARZHL:

K554 : OIML R60 C3
RZEuH: < £0.02%.
30min IFAZ IR ZE: 0.02%
i NHLJE: max 18VDC
G5 3mv/V £0.4%
I NFHPT: 350 ohm=*3.5 -
ErHPHPT: 350 ohm=+3.5 O
#52HHT: >5000 M ohm
TPl £1%

Bidasde: 1pe7

N TAESAT: 150% F.S.

WA AT >300% F.S.

7 RS, EIAUE M S %12 0.4mm
Mo AN

A 5K

— J — ¥
| | O =
1L 1L ! 1 1 ’
it \ : | bl | 378 -24 UNF |
i 1] h . | i
= N T T AT i 500 kg
Ut | K_/ : : : 1000 kg
! N A I 2000 kg | 5000 kg
| D | |- K | A 130 1715
- D (mourting suriace) B| 213 36.8
= C | 158 10
} 1 D| @135 | @207
| ) ) Wy | E| 158 10
& NPARN F| 4 38.1
’[ﬂ‘]m:f G| 72 | 053
— ‘ 1 IM12x175|M20%25
- G —F | E_ K| 56 76
A

Dimensions (mm)

28
A FE RN BARAT B2 7



LAUMAS FREE AL s

W2 Hik% . FTZA: 500, 1000, 2000, 5000, 7500, 10000 (KG)

BRZHL:

FEEL54% . OIMLR60 C3 (5000-10000KG) /C4 (500-2000KG)
RZEVaH: <£0.017% (0.013% C4) .
30min #FAF R 22 0.02%

Hr \HLJE: max 18VDC

WSS 2mv/V £0.4%

i NBHPT: 350 ohm=£3.5

HiHiBHPT: 350 ohm£3.5

#iZ B 4i: >5000 M ohm b
RO £1% -

B aEdt: 1pe8

I K TAE#AT: 150% F.S.
R E AT : >300% F.S.

76 FS. EAUE WS 12: 0.4mm
M5 AN

HASKE: 5K

H1

_ ¥
i i /_\ #5.24 UNF m
|=/d_ \. 500 kg
\-.\\‘_ / qT 1000 kg | SO0 kg
2000kg | 7SO0 kg (10000 kg
_“\ Al @174 | @255 | s
BE| ©203 | @414 | ©414
! E | C| @138 |@dzz| @
5 {mounting surface) D | 36de 47.36 55
— E[ e 11 111
--\\é(/_ﬂ TS -:Ir F| 203z [ 23495 | 2343
l’/.;_ e P c | 1008 ez | 208z
N i . g H| 4783 | eUBs | eoEs
lk _//I HI| s 47ed | =8
I | &= 8.7 BET
| L | | e L[ weas | 128 | 158
F Ml 119 1575 | 1575

Dimenszions (mm)

29
JE BB B 5 B AR A PR W]



LAUMAS Fr T fL 8gs

M-S E0A%: FTH: 5000, 10000 (KG)

=

&

RZH:

R <£0.1%.
30min #E AR IRZE: 0.1%
L : max 15VDC
A S: 1mV/V £0.5%
HNPFH$T: 400 ohm 10
BT 352 ohm=2
%2 BHPT: >5000 M ohm
RO £1%
Bidrisdt: 1P68

K TAERAT: 200% F.S.
WA AT : >350% F.S.

7E FS. B%e il &= 45: 0.4mm
M &4

S KR 10 K

- ¥
45 &0 ] 50 g0 & 80 40 Ah
| | ] | ~ ; .‘g‘ (lo ] 1~
" N S — T | o
rr_/ @40 i:i i i & :é
o - : e --------------- R +—F o 3 ﬁ-;—#’
: I n
Iyl L . |
' R 111 L1l L1 | QE/
120 | A 6l 18
450
3x @19 0 Exampie of application with 4 load cells
! Wi
8 : fi:f} O 9]

Dimensions (mm)

30

A FE BRI B R T



54

LAUMAS FrEE AL a8

TS A% DTX:

=

&

A
PR

2

< 10.04%.

30min AR 1R % : 0.016%

AL
55+
CYNCER
At LA
AL
F AT
b

max 15VDC
2mV/V £0.1%
770 ohm=£20
700 ohm=*=10
>5000 M ohm
+2%

IP68

K TAE#AT: 150% F.S.

R -

>200% F.S.

£ RS, LRVBUE N H AR 0.4mm
FHJ5C: RN

R

10 K

59.5

257

A FE BRI B R T

10000 (KG)

1/4 gas

|
i
i
|
e~ —
i — i
| 145 |
' 185 '

.
9

Dimenzions (mm)

31



LAUMAS FREE AL s

TSR DTL:

25000, 30000 (KG)

(G, mf /7 0,1,2,21,22 [X)

BRSH:

KPS
IREVEHE: <40.02%.
30min iEAF IR ZE: 0.016%

iy NHLE: max 15VDC
HHES: 2mv/V £0.2%
iy NBH$T: 765 ohm£15
i BHPT: 701 ohm+£3
#a2PHHT: >5000 M ohm
TRl 2%
Biya5de: 1pe8

I R TAF#iAr: 150% F.S.
IR : >200% F.S.

OIML R60 C3 (25000KG)

7E RS LRAUE M & %12 0.6mm
M RPN
R 12K
PIATTCO DTL
s e
4x @13 - &30 3
o )‘\I— I,r"' _“‘\,r,u— o
® N o
7] Iy
w o
o0 oo
210
| ! ! [
[0 11 o
13 I I
Il diverso raggio & curvatura tra la
sfera e le basiche la contengono, fa
A 51 che eventual spostarmeniilaterali
defermining un innalzamenio della
[ {2 ] struthura pesata.

The diferent bending radius behwvesn
fhe ball and the bazes which contain

M it makes that any side shifts lead fo
L 10 o increase of e shuchus.

A FE RN BARAT B2 7

=1
o

1k

DTL weight = 18 kg

100

135

20

o

240

Dimenaions (mm)

32



LAUMAS FREE AL s

S HA& . CK: 200,

500, 1000, 2500

(G, mfHi70,1,2,21,22 [X)

BARSH:

RZVIH: <+£0.3%.
4hours IFAR R ZE: 0.3%
i NHLE: max 15VDC
A Y 1mV/V £10%
I NFHPT: 400 ohm=+100
i BHPT: 350 ohm+t5
#a2%PHHT: >5000 M ohm
TR £1%
BiyaEde: 1pe7

N TAESAT: 120% F.S.
BN >200% F.S.
7 RS, EIAUE M # % 12: 0.3mm
Mo AN

AR 5K

(KG)

kg 200 | kg 1000
D AN c kg 500 | kg 2500
T | / / ':'.'_'L:'."n\ — A 8 14
|ll'l l__-"/’q \\ I|
: 1 ] f o \ \1 E 10 16
o el B4l c| o2 | o3
< o ?—" | HI 1 I'. r ..'I 7
1 \ élf Y A/ D| est | @1
AN s
T E M3 M3
- \/\I:-“- /
- e F | 13202 [ 16202
F

Dimenaions (mm)

33
JEH A B M AAT R 2 7



LAUMAS FREE AL s

S HA& . CLS: 1000, 2000, 5000 (KG)

BRZHL:

RZEVulH: < £0.03%.
30min #FAF R 25 0.02%
By N : max 15VDC
WSS 2mv/V £0.4%
HyPFH#T: 385 ohm=+10
B PHHT: 350 ohm=+3
Y2 BH$T: >5000 M ohm
RO £1%
Bidra5g: 1p68

I K TAE#AT: 150% F.S.
Wi AT : >250% F.S.

76 FS. EAUE Ml 5% 42 0.3mm
M5 AN

K E: 10 K

Dimensions (mm) 150

16

max
J2.5%

15

w
me |1 LU

* ATTEMZIOME! Massima quota di inserimento bullons per
cometto funzionamento cella
WARNING! Max dimension to insert the bolt to allow the
oall to perform propearny

M
kg 1000 [ M12 x1.75
kg 2000 [ M12 x1.75

kg 5000 | M20x 2.5 Waight : 4.2 kg

a0 4x @14 34

34

A FE RN BARAT B2 7



LAUMAS FrEE AL a8

5 JAS . CBL:

BARSH:

12500,

15000, 30000,

(G, mf}]70,1,2,21,22 [X)

K552 : OIMLR60 C2 (2500-12500KG)

RZETILH -

< 1+0.03%

4hours IFAF IR ZE: 0.03%

AR
OGS
YT
AL
AL
F AT
Tt

max 15VDC
2mV/V £0.1%
700 ohm=£3
700 ohm=£5
>10000 M ohm
1%

IP68

KT AE#iAT: 150% F.S.

RO Ao -

>300% F.S.

7E FS. EIMAUE N = #12: 0.4mm
M. AW

50000,

250, 500, 1000, 2500, 5000, 7500, 10000,

100000 (KG)

A FE RN BARAT B2 7

AT K E: 5-10 2K
B
—_— 260
] . 50000
i 12500 | 15000 | 30000 (100000
I,_,_( A | @82 |@100| @126 | @165
' B 44 43 54
: 80
14 gas 4 |
O _ng | C 3z 35 40 g0
[_' )| - | D @22 | @28 | @35 | geo
L i
| E 14 14 14 s
E | A F | 15 15 15 15 |

4
o I

Dimeanzions (mm)

35



LAUMAS FrEE AL a8

S EA% . CBX: 15000, 30000, 50000 (KG)

BARZHL:
RIE

(G, mf /7 0,1,2,21,22 [X)

< +0.035%.

4hours IFAF IR Z: 0.03%

NG
LR ERER
CIPANUEETE
ot LA
Y 2 -
E S F
IERSELE

max 15VDC
2mV/V £0.1%
700 ohm=£5
700 ohm=£5
>10000 M ohm
1%

IP68

KT AE#iAT: 150% F.S.

BRI Ao -

>300% F.S.

7E FS. LA E M= 12: 0.4mm
M. AW

B 10 K
D ¥
| | 15000 | 30000 | 50000 ,di
| @82 | @100 | @128
44 | 48 | s4
1/4 gas

32 35 40
@22 | @28 | @35
14 14 14

nmlo | oo e

15 15 15

e

] ] Dimensions {mm)

36

A FE RN BARAT B2 7



LAUMAS FREE AL s

S HA& . CBLS: 200000, 3000000, 500000, 750000 (KG)

(G, mfHi70,1,2,21,22 [X)
HARSH

IRZEVIH: <+£0.1%.

4hours IFAZ 1% 7: 0.03%

i NHLE: max 15VDC

s 2mv/v £0.1% 2 =

I NFHPT: 700 ohm=+20

K BHE: 700 ohm+5 v

Y12 BH47: 5000 M ohm xf_' i
TPl +1% i {_ﬁ:
Biya5de: 1pe8

N TAESAT: 150% F.S. —
BN >300% F.S.

7 RS, EIAUE M #8412 0.4mm

Mo AN

BT E: 10 K

I
— ¥
:[ 4xD =y
= |
| A|lB|C|D|E|F|G]|H |wigh [
M_ L 200t |2z &7 [zooftos( 136 70 [ 10 ] 2 [ 20kg - -
300t |299] 155 260125{230] 85 |12 ] 2 [ 42k =TT
Base supariors S00-750t|299155] 260 [125] 230120 14 | 2 | 60 kg e ﬂ-rn.h\ N \ \
Upper Plats [ AR

IjJLim|u]P m*
200t 119| s& | &0 | & 125 ™
20t 108 [ 15| 8o | 5 [140 f

S00-750t 198 156 80 [ @ |200

Dimensgions (mm)

37
JE BB B 5 B AR A PR W]



LAUMAS FrEE AL a8

FIZHA&: COK: 15000, 25000, 50000 (KG)

(G, mf /7 0,1,2,21,22 [X)
HARZHL:

K554 : OIML R60 C3
RG] < £0.02%.
30min IFAZ IR ZE: 0.02%
i NHLE: max 15VDC

G5 2mv/V £0.1% i

i NFHPT: 780 ohm=+20 E
fiBHt: 700 ohm 10 -

Y2 FH4T: >5000 M ohm I

TPl £1% '

Biya5de: 1pe8 !

K TAFERAT: 150% F.S. | |
WA >250% F.S. .

7 FS. FIAUE M & % 12: 0.6-1mm

Bt i
RIS 20 K

Dimengions (mm)

@11
[! | | 5
NN S 2165
A / :
".lIIIlIII
'|I'|I
COK |
g2 @Fe / ,II"'T_CQH :|
L @ | ]
e | L - @ i/l -'II-'J

. J:. III /
3 ?«;\@ T COK weight: 3 kg

KIT_COK weight: 2.7 kg

38

A FE RN BARAT B2 7




LAUMAS FREE AL s

SRR CO:

25000 (KG)

(G, mfHi70,1,2,21,22 [X)

FARZ

KSR 2%: OIMLR60 C4
REVEH: <+£0.017%.
30min IFAZ IR ZE: 0.02%
i NHLE: max 15VDC
HWHES: 2mv/V £0.1%
i NBH$T: 700 ohm+7
i BHAT: 700 ohm£7
#a2PHHT: >5000 M ohm
TR £1%
Biya5de: 1pe8

I K TAF#iAr: 150% F.S.

RO Ao -

7E FS. LIMAUE N = 1E: 0.6-1mm

>300% F.S.

Mt AN

HAE R 15K
Dimensions (mm) G40 PlA_CO (piastra super. e infer. in acciaio speciale) -
{(Special steal plates) 5
! | 11 |
ay . EXSEIN N
o o i
CEY I L] / __J
& LI uw i e
-] % ] —1
=|z &) = o P [T

70 ) M-

N m
1 M E o KIT.CO  FlA_CO

a E 115 17.5] = co

e e {1

i)l

. , . . L T P f—
KIT GO (basi superione & infer. in acciaio inox) | T -.r?] __ T
{ Stainless steal bases) LA ‘x\ WL I / -—
70 / \ =
43 7 ] —~‘— @IBEE NS SR
an 11 = D1, = | 180 |
[ i % E]H 8 %, l /f i . ..
| | ) Il =N A L4 | Sistema antirotazions CO weight = 2.4kg
B — a2 O “EL | tpeme pio o-ing) KIT-CO weight = 1.8kg
g ek = X . _ " =1,
“ 7 115 7.4 Pin and O-ring for antirotstion PIA_C0 waight = 3.4kg
TE

JEH A B M AAT R 2 7




LAUMAS FREE AL s

W58k CcoL:

30000, 60000 (KG)

(G, mf /7 0,1,2,21,22 [X)

BRSH:

KERE25 2% . OIMLR60 C4 (30000KG)
OIML R60 C3 (60000KG)
PeZEEJIH: <40.017%. (0.013%)

30min iEAF IR ZE: 0.016%

DN
finih 5
ONE
b LA
AL
F P
b5 2%

max 15VDC
2mV/V £0.1%
800 ohm 30
700 ohm=£3
>5000 M ohm
2%

IP68

R TAF#iAr: 120% F.S.

RO Ao -

7E FS. EIMAUE N E K 1E: 0.6-1mm
M AW
20 K

LA -

Dimengions (mm)

>200% F.S.

3@ 175

weight
oL 0000 200 150 123 12 160° 2.3kg
COL sl | 260 | 210 153 1 23 AT kg

A FE RN BARAT B2 7

KIT_COL weight =3 kg

285

AN

N

/';a

KIT oL &

\\qr coL

7

N

40



LAUMAS FREE AL s

S E0A% . COLD: 30000 (KG)

=

W

RZH:

FEEEZE4 . OIMLR60 C4 (30000KG)
RZEEH: < +£0.013%.

30min IFAR R 22 0.012%
WiEkil: 200000+0.05% %
FINFHL: 8-18 VDC

YR HLIT: max 60mA

Pl +0.1%

RS485 JH IH: 4R T

TINFLZE: max 1200 3K
Bidr55:4%: 1P68

I K TARESAT: 120% F.S.
W : >150% F.S.

7E FS _EI%E & #8417 0.6-1mm
M5 ANHH

R 20 K

Dimengions (mm)

@11

N

/ | @44
KIT CcoL 2|76

\ COoLD

cotpaoopn| 200 [ 150 [ 123 | 13 5 TG T3he %7 b S
KIT_COL weight = 3 kg k \\\\\\

=L
7
Z

F

A B c D max | E jmax angie) | F founvature paus) | weight

41

AT FE RN BARAT B2 7



LAUMAS FREE AL s

TSR CL:

500, 1000, 2000, 5000, 10000, 20000, 30000,

60000, 100000, 150000, 200000 (KG)

(G, mf /7 0,1,2,21,22 [X)

BARSH:

RZETEH -

< +0.05%.

30min IF AR ZE: 0.03%

CIPANCEVES
LR ERER

max 15VDC

2mV/V +0.3% > f-——“\’_
700 ohm =20 ' a

LEPANEET L X w ey
i BHAT: 700 ohm+£5 m»:‘;\x_, . W
#a2%PHHT: >5000 M ohm
FOPHT: 1%
Biya5Eg:: 1P67/1P68
K TAE#AT: 150% F.S.
TR AT >300% F.S.
7E S BRBe M & % 4%: 0.3mm
PR AN
MK E: 5K
F B
5 | kg 500 kg 20000
n ™ kg 1000 | kg 5000 | kg 30000 | kg 100000 | kg 150000 | kg 200000
| ‘G @ kg 2000 | kg 10000 | kg 60000
:_ LE.i A @85 @o4 | @136 @175 @213 @ 254
D B @ ag @100 @164 @219 @ 240 @ 209
C o 31 @ 38 @70 @ 04 @ 140 @170
= D @72 @78 | @108 @120 @176 @ 210
_. é}-*"""--‘\x\i% E  |M20x15| M24x2 | M4Bx3 | MBdxd | MT2Zx4 | MIOXE
I,f 7 {/;; ﬁ:\ o F 2 2 5 5 5 5
O = S Sramery G 1.5 15 2 3 3 3
YA A ¥ H 20 35 50 70 70 a0
' '\“-_u.q_____f /f’/ » | 8.5 B.5 18.5 255 255 255
Bb— — L 68.5 735 101 128.5 143.5 168.5
12% | IZC%EUDDD] Eh’d gas Weight 1.1 1.4 5 11 16 26

¥

4
4+
.
¥

Dumensiong (mm)

JE BB B 5 B AR A PR W]

42



LAUMAS FREE AL s

IS HMA&: CLK: 2000, 5000, 10000, 20000 (KG)

(G, mfHi70,1,2,21,22 [X)
HARSH

RZEVEH: <£0.05% (2000-5000KG)
<=+0.1% (10000-20000KG )

30min IFAZ R ZE: 0.03%

i NHLE: max 15VDC

WSS 2mv/V £0.3% p—
i AFHPL: 352 ohm=+2 a5 =
ﬁutﬂl‘ﬁb‘i: 400 ohm £ 10 H-’?f-;'__'.". =
#a2PHHT: >5000 M ohm - ‘J i
EEOPAT: +1%

Bidr254% . 1P67 B

N TAESAT: 150% F.S.

BN #ifr: >250% F.S.

7 RS, EIAUE Ml # % 12: 0.3mm
M 44N

K. 12K

@105 @120 F 155

70 =11 a0

C
I kg 10000 ¥
L] kg 2000 | kg 5000 kg 20000 "1:|
,.E @o0 | @1045] @133 4+
- MG x 55h | M8 x 65h | M10 x 75h 4
¥

Fl—=|T|@|mmo| oo =

|\
_!—_ 2.5 25 27.5
I‘E{PV 45 50 55
i / 75 28 104
é 2 2 3
/ LI:II:/ % 7 g 11
i 2] | | M14 32 [M20%1.5] Mm3ox2
% M 12 28 40
ii A gnt| 42kg | Bhky [10.5-1 kg

| B2

E
L
Jo|

i

Dimengions (mm)

43
bR HE PR E AT B 2w



.75

LAUMAS FREE AL s

M= EK. SA: 15, 30, 60 (KG)

(G, mfHi70,1,2,21,22 [X)

BRSH:

K BE S
WRZEE

OIML RO6 C3
< +0.02%.

4hour I AR IR ZE: 0.016%

NG
SR ERER
CIPANUEET
ot LA
Y 2 -
E S F
IERSELE

max 15VDC
2mV/V £10%
381 ohm=*=20
350 ohm=*4
>5000 M ohm
+1%

IP65

R TAF#iAr: 120% F.S.

RO Ao -

>300% F.S.

7E FS. LIMAUE M= 1E: 0.2mm
M R

s K

—-I

3K

Ingombro con snodi sferici
T‘i I"'—'-I Ball-and-socket joints Example of application on the

26 ME x 1 13

]

10.5

Eﬂ

Ezempio di applicazione su
tirante bilancia meccanica

5 tension bar mechanical scale

%[

i _
E% o e
| N s
Dr!—m—)
F| u-5I-1. | 17 =)

JE BB B 5 B AR A PR W]

=
é

MG x 1

Dimeangions (mm)

44



LAUMAS FREE AL s

TSR SL:

25,

100,

200, 300, 500,

(G, mfHi70,1,2,21,22 [X)

BARSH:

KR4 . OIML RO6 C3
IREVEHE: <40.02%.
30min IFAARZE: 0.03%

&

Wy \HLJE: max 15VDC = —
HHES: 2mv/V £0.2% )
i NFH4T: 350 ohm+£3.5 i SEE
KB 350 ohm+3.5 ) =
#a2%PHHT: >5000 M ohm d.}
FOPHT: 1%
Bidasd: 167 -3
K TAE#AT: 150% F.S.
TR AT . >300% F.S.
7E S, BRBE M &% 1%: 0.4mm
MR 4
AT E: 5-10 K
25 kg | 100 kg |200%300500" kg [1000 kg |2500 kg
B i | C | A TH2 TE.2 TE.2 TB.2 101.5
1 B| sos | soa 508 508 6.2
E C 12 19 19 25.4 25.4
D 16.2 225 225 3 et
1 E 1 10 ] 10 T
<L ‘E% F | M&x1.25 M10x1 5 M12x1.75 M12¢1.75 | M20x1 .5
G| 155 156 | i5is 14/} 1350 | 1325 20
)] H| 12 142 | 156 158150 | 181 2215
E 1| 115 | 148 (@17 17 25
—1 L a8 a 10 10 18
[ D Ml & T6E 55 3 =)

JEHC B R 2 HARA LA )

1000, 2500 (KG)

Ingombro con snodi sferici
Ball-and-socket joints
L
=|
T (= ¥

-

Dimensions {mm)

45



LAUMAS Fr T fL 8gs

ASHi%: CTOL:  50,100,200,300,500,1000,2500,5000 (KG)

(G, mf /7 0,1,2,21,22 [X)
HARZHL:

wRZEuH: < £0.03%.

30min #2125 0.016%

i NHLE: max 15VDC

s S 2mV/VE0.5% (50-300KG)
2mV/V £0.1% (500-5000KG )

I NFHPT: 385 ohm=+30

ErHPHPT: 350 ohm+10

#AnZH$T: >2000 M ohm

TR 2%

Bidrasdt: 167

N TAESAT: 150% F.S.

WA AT >250% F.S.

7 RS, LIAUE M # % 12: 0.4mm

Mo AN

4K E: 10 K

kg 50 - 300 ko 500 - 5000

Dimensions {mm)

Ingombro con snodi sfenci ¥
Bail-anad-socket joints kg 50 @N
kg 300 | kg 1000 | kg 2300 | kg 3000
A | e25 82 B2 102 »
B | M12¢1.75 | M16x2 | M20w1.5| M24x2 4+
C 17 17 17 17
D 22 a0 ap 45 @"
E 145 21 21 24 -.',
F 17 23 25 a2
G @12 @17 @20 @24
H 585 T8 TE an
| 150 185 185 35
L 10 14 18 20
M 55 7D BD o5
46

A FE BRI B R T



LAUMAS FREE AL s

=2 Hk%: CTL: 100, 200, 300, 500, 1000, 2500, 5000, 7500,

10000, 125000 (KG)

(G, mf /7 0,1,2,21,22 [X)

BARSH:

KSR 2. OIMLR60 C3
RZEVEH: <£0.02%.
4hour AR ZE: 0.016%
iy NHLE: max 15VDC
S 2mV/VE0.1%
HiABHPL: 350 ohm=t5
i BHPT: 350 ohmt2
#a2%PHHT: >5000 M ohm
FOHT: 2%
Biya5de: 1pe8

N TAESAT: 150% F.S.
BN >300% F.S.

7E FS. L IR%0E W & B A5

st AN
R 10 K

0.3mm

g 100
©g 200 | kg S0 kg 5000
03 200 | kg 10OD| kg 2500 | kg 7500 |kg 10000 kg 12500
A B35 a2 B2 [iv] 114 128
B |sizi 75| Mien 2| M2Dxt 5| MBLXZ | M20X2Z | MIEX3
[+ ] a0 an 45 ET] 55
D 45 £y 21 24 s 7
E 505 78 & a1 103 120
F 12 17 n 24 ] 35
[ i7 3 5 32 IG5 &1
H 150 1685 FIi] 235 260 34
1 10 14 1E 20 = 5
L 55 Fj} ED a5 110 14D

JE BB B 5 B AR A PR W]

Ingormbro con snodi sferic
Bal-ana-zockst foinis

-
b

""J‘\

\

!

2

Dimensions (mm)

47



LAUMAS FrEE AL a8

TS Hik: TAL: 5000, 10000, 20000 (KG)

(G, mf /7 0,1,2,21,22 [X)
HASH .

RZEEH: < £0.03%.
4hour IR R ZE: 0.03%
B NHLE: max 15VDC
G5 2mv/VE0.1%
HiABHPL: 350 ohm=t5
i BHPT: 350 ohm+t5
“#5 2 BH4t: >5000 M ohm
TPl £1%
Biya5de: 1pe8

N TAESAT: 150% F.S.
BN #ifr: >300% F.S.
7 RS, LIAUE Ml # % 12: 0.3mm
Mo AN
4K . 10 K

E
S _ |
!
D H
kg 5000 J I Nany
kg 10000 [ kg 20000 \_L)’
Al 76 82 i
B| 45 54 i
14 gas
c| = | as 4 | O " _Q_L}__._ .
D| 35 47 10
E| 1% 156 Q
F| 108 112 {f; 3 -
| 1m0 125 - - T\::‘}‘ ofd
H| zoo 250 a :
- B o A Dimensions {mm)

48
AT 4 A A BR 2 )



LAUMAS FREE AL s

S5 A& TBT: 30000,40000,50000,60000,100000,250000 (KG)

BRZHL:

RZEVuH: < £0.08%.
4hour #FAF R 2E: 0.03%
Y NHLIE: max 15VDC
B Y 1mV/VE0.1%
HyNFH#T: 350 ohm=+20
Bt PHHT: 350 ohmE5
Y2 BH$T: >5000 M ohm
RO £1%
Bidra5gk: 1p68

I K TAE#AT: 150% F.S.
WA AT : >300% F.S.
76 FS _bEUE N & AE: 0.3mm
M5 AN

K E: 10 K

B — A — E
e = g
kg 30000
[ . kg 40000 G‘
o ' D kg 50000 ¥
- ol W kg 60000 | kg 100000 | kg 250000
L] N j A 100 127 240
& I |E B 78 88 110
| P C @ 58 @71 @ 102
] 4w _).E}C_ D 50 70 120
\l}_/ . E 180 200 360
, F a0 120 185
| /—I G 65 e 136
i | I% H 280 340 E00
S N N
- ;
|

Dimensions {mm)

49
AT 4 A A BR 2 )



LAUMAS FREE AL s

5 JA% . LAU:

(G, mfHi70,1,2,21,22 [X)

BRSH:

R <40.1%.
30min IFAA R ZE: 0.03%

YNNI
I
INTET
fith L
AL
LT
B4t

max 15VDC
1mV/V£0.1%
350 ohm =20
350 ohm=£5
>5000 M ohm
+1%

IP68

N TAESAT: 150% F.S.
BN >400% F.S.
7 RS, EIAUE M #8142 0.4mm
Mo AN
K E: 10 K

5000,

10000

9

20000 (KG)

(from 0,02 to 0.05)
& el

143
120 20 |J§ i[g
15 20 50 20 15 |8, 12
F P 4
iz @Z:J‘ | |
fﬂﬂx ;frm ol ff \
|/ |/ <1 ]
-I_ -I_ '-H ;;'
! “/] % @ 14 gas T
25 70 I 25 I

Dimengions (mm)

JE BB B 5 B AR A PR W]

| |1s‘4 Jas )

50



LAUMAS FrEE AL a8

TS HM . FUN:

2000,

4000,

10000, 20000, 40000 (KG)

(G, mf /7 0,1,2,21,22 [X)

BARSH:

R <+2%.
30min IFAA R ZE: 0.03%

Wy \NHLJE: max 15VDC
BHfES: 3mv/VE0.1%
Hy\BHH: 750/1050 ohm+20
HrHiBHeT: 700 ohm£2

%2 H$T: >5000 M ohm
FOPHT: 2%

Biya5de: 1pe8
N TAESAT: 150% F.S.
WA AT >200% F.S.

7 RS, FIAUE Ml #8412 0.5mm
M FEFEN
AR 6K

E G | PREVEDERE -
! i ANCORAGGIO DI SICUREZZA e
N 7 ALLAFUNE DEL CAPO FISSO T \"I
) I
/8 | ] e )«
T A SECURITY ANCHORAGE DEVICE i /
@ If T THE ROPE OF THE HEAD FIXED -
-
‘I {
4 —
S T mj o[-
4] L
Max Tenslone fune | Dlametm fune Q
Tension of wire rope | Wiempedsmeter| A B | C | D | E F | G| H I |[L|M
FUMNG141TIT 2000 kg @a-14 a0 [ 28 (28 |3 | 51 41 15 |160) 22 | 76 | 108 i ",
FUN10132T1T 4000 kg & 10-18 a0 | 28 (28| 3D | 54 | 43 15 |100) 22 | TG [ 113 E o
FUN162085T2T 10000 kg @16 - 28 a0 | 28 |28 | 3D | 58 | 43 15 |100| 22 | TG | 119 ! _r.-"
FUMN243810T3T 20000 kg @24-38 45 | 40 (40 | 45 | 82 | 48 24 | 26D 34 103|166 c |
FUMNZ243320T5T 40000 kg & 24 - 38 43 | 40 [ 40 | 45 | 82 | 48 24 | 200 | 34 | 108 168 o |
E

Cuztomized load celiz acconding ko fengion snd diamefer ad wire rape

A FE RN BARAT B2 7

Dimensions (mm)

51



LAUMAS FrEE AL a8

S K& : CA50:

BARZHL:
RIEEHH

CA75: 50000, 75000 (KG)

CA 120: 75000, 100000,
CA165: 125000, 150000,
CA 225: 180000, 250000

(G, mf /7 0,1,2,21,22 [X)

< 10.1%.

4hours IFAF IR Z: 0.03%

BN LU
s
LPNEE7I
BB
A EZ 3T ET
F RCPA
IEREZE
N TAESAT: 150% F.S.
T I Ay«

max 15VDC
2mV/V£0.1%
700 ohm=£5
700 ohm =20
>5000 M ohm
2%

IP68

>300% F.S.

7E FS. LA E M= 12: 0.4mm
Mt AW

s K

Dimeansions {mm)

5K

30000, 50000, 75000 (KG)

125000 (KG)

180000 (KG)

(KG)

A FE RN BARAT B2 7

¥
[ ——
CaA 50| CaTs | CA120| CA 185 | CA 225
A 163 163 279 75 320
B 1315 | 1315 | 1085 3 255
[+ 145 145 207 262 anz
o 05 g5 150 185 250
E 50 75 120 168 225
weight [ Skg | Skg D kg 14kg | 20kg
52




LAUMAS FREE AL s

W5 JA% . LPED:

BRZHL:

RZEVuH: < £0.08%.
4hours IFAZ R 2. 0.03%
By NHLE: max 15VDC
AES: 1mv/v
HyNFHPT: 350 ohm=+50
HriPHPT: 350 ohm=+5
22 H71: >5000 M ohm
FRO: £1%

B 554: 1P65

I K TAE#AT: 150% F.S.
WA >300% F.S.
M. 4

HATKE: 2K

Dimensions (mm) l-—

100 (KG)

anti-slip coating

A FE RN BARAT B2 7

50

53



Hh R AR T A B 42 R AT R ]

Hihik:
HLI
e EL:
IS4 -

bt T EARH X 22 37 1% 60 SEMAE I B BB 2205 &
010-64820350
010-64820218

Yajielong@163.com





